Honors Pre-Calculus

Final Exam Review #1: 2.1-2.4
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1.  Convert the quadratic function
f(x) 3x* —12x—8 to standard form.
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2. Write the standard form equation of the parabola |
that has zeros (-3,0) and (3, 0) and maximum
value y=18.
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3. Convert the quadratic function - g . _"”‘" -
g(x)=x" —4x+1 to standard form and specify L)
the vertex, axis of symmetry, value of the
maximum or minimum, and find its zeros.
algebraically. Graph the function and identify
all of the above on the graph.
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Standard form:
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4. A company that makes widgets developed a relationship between profit () and dollars spenton

Algebraically find the number of advertising dollars that
maximizes profit and Spe(nfy the maximum profit.
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Find all real zeros of the polynomial function
f(x)=2x"-2x" —40x* algebraically. Specify
the multiplicity of each zero.
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Find a polynomial function of degre@hat has
zeros —2 and 1.
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7. Construct a polynomial function of the form a,x" +a, x"" +:--a,x +a, that could have the graph shown

below. Make sure to expand all factors and simplify the polynomial.
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8-11: Sketch the graph of the polynomial function 11. Plot all from above ;omts and sketch a smooth

F(%) =%(@— 26 —4x* +8x).
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10. Specify additional points to plot.

State the tail behavior using the leading
coefficient test, ,
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Find the zeros algebraically.
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curve through them with the proper behavior at
the zeros.
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12. Divide using synthetic division.
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13. Find f(-6) for f(x)=10x" —22x> —3x +4
using synthetic substitution.
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14. Determine if x =—4 is a zero of the function
f(x)=x"—28x—48. If so, factor the
polynomial function completely.

15. Find all zeros of
f(x)=x*—4x’ —=15x* + 58x —40 given that
(x-5) and (x+4) are factors.
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19. Solve 2x* +6x+10=0
X243% + S =0
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